The April Fools Blizzard oreeoemcen

Extend the short answers to fill the spaces left empty to complete the symmetrical snowflake shapes.
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Assemble the
extra letters
added to
complete
snowflakes
top to bottom
within each
snowflake

to spell the
answer A GAME
OF THRONES

m|<[O|~|[m]
nwioxm(>» |

(w|H[Z]m[<]|m

[m[<|Oo[Z[O|r[m|[>]|=D]

[(w][z[Oo[—|H]S][|Oo]wn]

)
R
|

N »
C

A
I

YRl

(> R[> |r|[>]

A x]o[c|[o]w]

[Z2[> | Z[m[o]—]|

(m[xlo[Z2]>][[>[<[>]

5
L
E

NN AY:

| B[O O|T[=[m 0]

IWEIR I
5 G0

(2> | =m[w]|r|m]
(O|lojc|wm|r | m]|

SNOW CRASH
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